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QUESTION 1

During an RFP analysis, one of the vendors mentioned that you\\'ll need to upgrade your Gigabit Ethernet switches to
MultiGig switches to ensure support for 802.11ac and 802.11ax, which both offer data rates over 1Gbps. Why is this not
sound advice?

A. Because neither of the technologies support data rates over 1Gbps

B. Because 802.11ax doesn\\'t support channel bonding

C. Management overhead that is normal in WLANs will reduce the throughput of the client devices

D. Because 802.11ac only supports one spatial stream

Correct Answer: C

QUESTION 2

What are the deliverables to your customer after successfully implementing a WLAN infrastructure?
A. Digital or physical assets, guides, floorplans and configuration documents

B. Project Charter

C. Facility blueprints

D. Nothing is required. The implemented WLAN was deliverable

Correct Answer: A

QUESTION 3

After deploying a 5 GHz-only WLAN infrastructure in the USA, using 20 MHz channel-widths and all 25 available
channels, one of the managers of the company brings his 802.11n tablet to the office to test the Guest SSID. While
testing, there were several spots where we would get poor RSSI (below -80dBM) or none at all. You checked the WLAN
infrastructure and all APs are up and running and you\\'ve validated coverage after deployment. What is causing this
issue?

A. His tablet doesn\\'t support the 5 GHz band

B. His tablet only supports a 40 MHz channel-width

C. His tablet does not support one or more of the 5 GHz channels

D. His tablet doesn\\'t support MU-MIMO

Correct Answer: D

QUESTION 4
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During a validation site survey, you realize that the installers mounted some of the APs above the ceiling. They said that
this was a request from the building architect due to aesthetics constraints. During the requirements gathering, you
weren\\'t advised about any aesthetics constraints from the main stakeholder of the project. What should you do in this
case?

A. Advise the stakeholder that WLAN performance requirements will not be met and a new design process will be
needed to meet the requirements.

B. Leave it as it is and allow automatic channel management to correct any issues.
C. Increase the output power on all APs by 6 dB immediately.
D. Remove all external antennas and use only the internal antennas to reduce multipath.

Correct Answer: A

QUESTION 5

Using a SCA means that all APs will be using the same channel in a given layer. How is the AP with which the client
associates determined?

A. All APs share a virtual IP address. A controller will tell the closest AP to the client to communicate with it, since it has
a greater RSSI from the client.

B. All APs share a virtual Multicast Address. A controller will tell the closest AP to the client to communicate with it, since
it has a greater RSSI from the client.

C. All APs share a virtual BSSID. A controller will tell the closest AP to the client to communicate with it, since it has a
greater RSSI from the client.

D. The client selects the AP based on a known set of MAC to BSSID mappings stored in the clients authorized SSID
listing.

Correct Answer: D
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